1000/c 2do)/d(m_1 + m_2) [1/GeV]

[HEN
<
N

Ratio to CMS

10

=

=
<
=

|
<
w

[EEY

0.5

7000 GeV pp Jets
=L L L L =
— ==
[ Pruned Jet Mass (anti-k (0.7), 220<p <300, |y|<2.5) -
= 33
| — QN
- N
= =[]
— T 1
- o3
= N =Ho
— 3=
[ 1
= .. =
— .. =)
[ . Y
= B =M
~ . 18
__ |
[ m CMS 4 s
= Alpgen+Py6 2.1.4 6.426 z2-CTEQ6L1 o3 E
- ¢ Sherpa 2.2.8 default — §
= Hg
— =y
— 12

19
| — | | — ey | = =
| T T T | T T T T | I:
—2
1
I e VO PO . . |
| \ by o5
T T T S I O N T R I T T R |

(m_1+m_2)/2[GeV]



	Contents
	Page 1


